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Chapter- 7

SUBTRACTION

WORKSHEET

Q1. Fill in the blanks.

7 J difference ] 70 I Forty - five | minuﬁJ

a. The answer of subtraction is known as " 'r:'f
b. The sign used for subtraction is called _[})| [} 14
¢. Thedifferenceof 14and7is ¥
d. Take away 10 from 80 gives

4 75 '.'.In-—-"
e. SlessthanS0is * J/ J_dl',.' [V A

Q2. Do as directed.

a. :u-h::dw;unﬂngbm%(}d;?u::m -
2 3
2810

'l Jf{-- r}:l-"i-'lll .;llif\ ) .-'. |-1 _&"
b. Subtract the following. [wrthnut bormwlng),

OM_\ OEC/\H.

¢. Cross out to subtract,

J A A A A LA
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d. Count backward and subtract.

23=5=_1§

a. Subtract the following.

Q3. Solve the questions.
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p ()

b. Solve it. :“1\/\

Rohan has 25 toffees. He gives 15 toffees to his frien
with him?
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Numher of toffees Rohan has

|

= — | "‘(5 N

Number of toffees he ives'ai%y' y ST Yo | O TTORT *'-"'f'
g Iﬁ’ | r -5

Number of toffees left with him < | ' 0 i

So, he has ( O toffees now.
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